]

]fl
i/
J
/
/
.’l""‘
2 ;

Line-propi

www.takiya.com

T

e

TAKIYA

2016.09






Index / Bx

03

for Light weight / &M
20kg (9 1.2)

TAB-O1

X# / Ceiling
TAZ-01 TAP-01
¢
== 4
Intermediate
spaces
X / Floor

e

for Medium-light weight / &£
20~30kg (p1.2~1.5)

TBB-O1

"

TBZ-01 TBZ-02

i 4L

TBZ-03 TBZ-04

w4

for Medium weight / £/
30~70kg (¢ 1.5~2.5)

TCB-0O1 TCB-02
n,
4?

|

T

TCZ-01 TCZ-02
[[ | [U
J < l.a
TCZ-04 TCZ-05

"
TCB-04 TCZ-06

TCB-03

for Heavy weight / E2H
100kg (93.0)

TDB-01 TDB-02

A
o

TCK

RECHEL
[B<fedIC

Using our products safely

BEDAY

Stainless steel wire

N>53—=04%

Color wire

FET X

Installation

XE

Memo

CENTTE

How to order

SRR

Company Information

04



Using our products safely / Z&(CHBEWVIEL s (C

HEREECEALT

E About our recommended load settings

=
DA VHRZE »1.2 »15 2.0 »2.5 »3.0

Wire diameter

3
MRS 20kg 30ke 50kg 70kg 100ke

recommended load

’ RAEE 68kg 109kg 209kg 264kg 418kg

maximum load

[ WEESEE(E :  HEFECFHET A PORBR. R (B8 FED 1/3 DNE#EFECRELTEDET,
MHEBEANCTTERATSL.

SEREESEHILNECORETY (BRWRICKD. RERELEEDDCENDDET),
XEHAREREHBICLOIMIETT.

recommended load: The maximum recommended load is calculated by taking one-third of the breaking
load as determined by testing.

- Please adhere to the load recommendations.

uﬂ - The recommended load is safe under normal conditions. Load maximums may be
affected by shaking or vibration.

- Numerical values established by the Japan Quality Assurance Organization.

EHROEREEDHETE | (AT DDA V—DHEFEE X 80 X60%

h{ Calculation method for multiple-wire suspensions: Recommended wire load X number of wires X 60%

DA VHRE p12 »15 »2.0 »25 »3.0

Wire diameter

2 XmD Dakg 36ke 60ke 84kg 120ke

2-wire suspensions

Using our products safely
24 (CBEBVNEL -8HIC ﬁwﬁigensims 48ke 72ke 120ke 168ke 240ke
Flc j=| C -

O X O O

-0
X

30kg 30kg 30kg 30kg 30kg 30kg 30kg 30kg 30kg

30kg 18kg

BEE
H

X O X O

30kg 30kg 30kg 30kg 30kg 30kg 30kg 30kg

30kg 30kg 30kg 30kg 30kg

30
72kg 36kg
e e
72kg 72kg




Using our products safely / Z&(CHBEWVIEL s (C

07

EERO;F=ERIF / Selection Guidelines

HHER [S>T7OvT i) FEARATTHEATELS
RELEOTHOFT .
Line-propi is designed for indoor use.

DA VFELEECKDBER TORRAICEDBED
HDEFIDTRTVUADKD R (SUS304 -
7X7) EERLIEE L,

The strength of steel wire may diminish over
time due to corrosion. Please use stainless
steel wire (SUS304 - 7X7).

HH0OY DRBEEOFERHZSZEICLTTERL
EEW. Floo REDEEPERTECDVTTAR
RPN E LS, HtFTBRLEDEL
ZE0,

Refer to product numbers found in the
catalog. Please contact us with any
gquestions about product selection and
usage.

BRYOENRELEDR. KHEKRTOA VP ZEET
BDELLEZEBRDLFT ENHLRETDHEBDNH
BENNDDKRERBIRTY),

In order to avoid unexpected additional
loads, we recommend that you secure all
wires to the ceiling and floor. Bumping or
otherwise disturbing an exhibit may place an
additional load on support wires.

X @)

DA VERDITRDBEFEEY A TDEREZE TE
ELIEEV. DAV ZERDBEEEEN—ERICIE

BEIICLTTHERALIEEL,

If a wire is to be installed at an angle,
please use a hinged bracket. The wire and
the bracket must be in alignment.

X
O

R PIEFH S ELSHDADFDONDIBRTS
FRICIEDBEE. FRETENMERGEZBX 5%
HBD. BFREENFZRND K DFATCIFE
PERILEDR. REZROICHEFEDRTEZD
FELLERT.

In high traffic areas, where people may
come into contact with an installed display,
the actual load may exceed the static load.
Please plan a safe margin of extra load
capacity, especially if children are expected
to be present.
a

£

J.1.)

DA PITBVERIDDD D CTVDIBETIE, ADS
DHBFERBDEE(CKIDHREFEZBICUR
SENHDFITDTTHICHEFEICHRRZR D
leEBOEREZSBVELET,

Please select wires and fittings with enough
surplus load capacity to account for
unexpected accidental contact with display.

DAV EEBAERAUICRRClE, ESEEECH
T EDEEECTHAICHENERLPT LD
FI. REZETHERUCEBRAECORLBULE
ED

When suspending a display with more than
one wire, it can be difficult to balance a load
evenly between the several wires. Please
give careful attention to how you install your
exhibit.

BTrWZZHRICBD NIBRT 258E. ENDOR
ECKD B CEREZRIESE2BNDHDFET
DT, EERERICIERBZR DlcRREBEZ DR
VWBLET,

When installing free-hanging exhibits,
please take into account that some sway
may occur. To avoid damage to displayed
objects or walls, please consider this when
choosing fittings and components.

ZEDR. DA VZEBERITDEIET A POEN
FRUN. NS EBBOFREZ CHESEO_ECERA
<IEELY,

To insure safety, please check wires
thoroughly for signs of damage due to
cutting, crushing, or folding before re-using.

BN mn #n
£ £ £
~ ~ e

X X X O

B D fFHFBEED;E=EETE / Installation Guidelines

DA VImEDEDNFELEDAR. DA v&EHY hUTC
sald. \VFLEZELTTREV, ZOFFFEAL
FIETAVIHBAESF, BREMETITDEHD
DFRT,

To avoid frayed-ends, please solder any cut

X @)

FEICTHTAVHBASN TV DEEZNTFD
RIICCHERR L 1EE LY,

Please check that the wire is fully inserted
into its metal fitting before placing a load on
it.

|

TUYAVERENTEREFERAI BRI DAV
DRDB\BE(TEFRLTLEE V. DA VD5 5RAE
MBAEEDE. DAV PEEDBIBORRLEED
EXD

When using fittings with adjustable tension,
be sure not to apply too much tension.
Excessive tension may cause the wire to
fail.

W\ A=A TOED fFFEICER PRI Z
HEFIT L FRICKDTAVHETHUOTIAV
MEOEDHDFT . TDHAIFEED A VO
fHFEfTo> T T,

When using a shelf or hanger pipe with
heavier loads, it is possible that the wire
may stretch. If this occurs, please adjust
the wire to take up the slack.

I \%

FrvIEVARDEEEFERAINDHEEEHT
Fv v TEVERADIAALTH S TERLEL,
When using a component with a cap-pin,
please be sure that the cap-pin is closed
before use.

£EZEXH. K. BELICEED DBAGEYER
IFF TP U H—=ZTEEVCIEE, Lo DEE
ESNTVDEZ CHEERD LRRZT oL IEEW,
When installing metal fittings into floors and
ceilings, please select suitable screws and
anchors. Confirm that each component is
securely installed before use.

FB0DAMD (EF) HELWVLEZCHERDO ECER
FEVE T, WAEICERUBE. BEZEZI 5N
BWR. BRYLSET. BEUAZRBKRTIDTS
AEREVETD,

Please confirm that each spring-loaded
locking mechanism is installed right-side-up.
If the mechanism is not correctly oriented, it
will not support its intended load.

a £
v %

{EA_EO;F=EEIE / Usage Notes

AHREHLETTHT A RATUAAHE UL TRIESN
THEDH. HROBHBICF+HEELTEDEIH.
JCEAWRFEOHENTH > CH. BFHRLEEE
FHTEFERED LEVL S BELEULET,
These products are intended for display
purposes. Please do not allow children to
play with or on them.

DAV PEEZHEICS 0RO ED, BOSLIEDT
BDERTYDETSIEAREBRTIDTHFIRIEE
MEFEVNRDICTEFREVNE T,

Please do not allow children to play on or
near these products. Pulling on or shaking
the display equipment may cause objects to
fall resulting in injury.

X

/

—

V.

X

REBEOFERICKDEENERICER LIE<Eo T
BAREL2DR. TEOTEEBEVRLET,
If, after prolonged use, a component fails to
work correctly, please replace it promptly.

BFEZRE T DHTNNAHDEIDT, TA VD
BEIRVICE D TEERVE T,

To avoid the risk of injury, please handle
wires with care.

»

DAY DFEmMEDND EIBIEE (ST A VRIEHH|
TBBENLHOET, Ffe. TEICHFEATEL
<HEDFITDT. RE2DBITTA VDI ZEHFEL
LET.

If a wire-end should fray, it will not fit
securely into fittings and may also cause
injury. Please replace or repair such wires
promptly.

08



for Light weight / B#=2H

09

for Light weight / &£
20kg type (¢ 1.2)

TAB-0O1

B B® KHEE
BHRY . MAIR—RT7UA—1EE S
=l
*71' E . Eﬁ S 2AFVUR Wire ca?uierce
ft £ F ZwuilbXvF
L K: P28
o M4
® M

Usage: Ceiling o
Appropriate screw: M4 border anchor
Material: brass, stainless steel L
Finish: nickel plate 5
Installation: P.28 =

L

910
A & JRILBEbirE
BHRY . MB3.0~3L5FNE Kor¥vEURY
M B BERYIANAN - ATVUR
ft £ F ZwuilbXvF
8 T ®: P30 10
Usage: Panel hanger
Appropriate screw: M3.0-3.5 pan head,

wood, or tap screw g
Material: zinc alloy, stainless steel 5 ®» 7.0
Finish: nickel plate 9 4.2 O PR
Installation: P.30 Wire can pierce
13
A & JRILBbLIE
Mo B AFVUR-yUIv
ft £ F: ¥yavhISXH
T X: P30
DA PRSE 1.0m A ESELEbEEEL, ol
Q|
@] pl.2

Usage: Panel hanger - /
Material: stainless steel, silicone
Finish: shot blasting
Installation: P.30

- For wire lengths greater than 1meter, please contact us.

M3
.o &b
10 ]

21612
12

10



for Medium-light weight / &£ M

4 I A BaiEe]
d TB B_O 1 Wire can pierce
’j A & KHZE
ﬁ EHRY © W3/8
7’ Mo OH: 2FULR - # s
,/ ft £ F: YayhISRb-2ZOOXvF
/j 8 T E: Pes 3
f‘ Usage: Ceiling ©
/ o)
/‘ Appropriate screw: W3/8
’)’; Material: stainless steel, steel
‘-/} Finish: shot blasting, trivalent chromium plating -
r;;: Installation: P.28
1 Lot
/
.‘,l} 12
/
»19

for Medium-light weight
/ EREH

20kg type (@ 1.2)
30kg type (@ 1.5)




for Medium-light weight / &£ M

Usage:
Appropriate
Material:
Finish:
Installation:

TBZ-
B &
BIGRY
[z
ft £ 1F:
i

Usage:
Appropriate
Material:
Finish:
Installation:

01

KH R IAT - iRDIEE
M3.0 78 KorywvEURY
ATV

VENANAS PN

P29

Ceiling, floor, pipe, and hanging shelf
screw: M3.0 pan-head, wood, or tap screw

stainless steel

shot blasting

P.29

02

KH - R - BmbEE
M3.0 7\ AKor¥vEr=RY
ATVURA
V3w kISR K
P29
Ceiling, floor, pipe, hanging shelf
screw: M3.0 pan-head, wood, or tap screw
stainless steel
shot blasting
P.29

»8

ﬁ

o
aQ
0

- %
DA VEEA]

12
Wire can pierce

18.5

?25 o pEiE

Wire can pierce

TBZ-03

B & ASRE - 7OUIRERE
# g AFVUR-yU3dv
ft £1F: Y3vhISRH

LT ®: P29

Usage: Glass or acrylic shelves

Material: stainless steel, silicone

Finish: shot blastin 8
g

Installation: P.29

f
i
|\

?25 o rEEn

Wire can pierce

TBZ-04 L™

B & RLBbEE ’ 10

BERY T M30FRE AorFvEvRY y H o ¢339 —
M B RAFVUR ﬁ[

Tt EF: YavyhISAH

e T ®: P30 -
Usage: Panel hanger ]

Appropriate screw: M3.0 pan head, wood, or tap screw o (

Material: stainless steel —

Finish: shot blasting ’—/Lfi’l ;

Installation: P.30

14



for Medium weight / F£H

e o T s T

S

/

a
é

for Medium weight / =

30kg type (¢ 1.5)
50kg type (@2.0)
70kg type (¢2.5)

TCB-01

A &
BIHRY
Mo B
ft £ (7
i

Usage:

K

W3/8

ATVUR - B - 8%

V3w hISAN ZudbXyF - AZo0OXYF
Pa8

Ceiling

Appropriate screw: W3/8

Material: stainless steel, brass, steel
Finish: shot blasting, nickel plate,

trivalent chromium plating
Installation: P.28

TCB-02

B &
BHRY
Mo B
L i
e T &

Usage:

KH - RIEE
W3/8
ATV
PEPA SIS
P28

Ceiling, floor

Appropriate screw. W3/8

Material: stainless steel
Finish: shot blasting
Installation: P.28

TCB-03
A B
v
Mo B
ft £
it T B

Usage:

KH - RIS E
W3/8
ATVURA
PEPIAPIS
P28

Ceiling, floor

Appropriate screw: W3/8

Material: stainless steel
Finish: shot blasting
Installation: P.28

107

10 2

DA VEEA]

Wire can pierce

W3/8

78

22

18 ~DAVEET

Wire can pierce

W3/8

15

36
30

W3/8

15

0 A v EET]

Wire can pierce

el

16



for Medium weight / F£H

TCZ-01

A

®ORKH KR SATROEE
BERY . M35~40FNE KordvErxI
=1

[zl g: ATVUR
ft E1F: a3y kIS

LK P29

Usage:
Appropriate screw:
Material:

Finish:

Installation:

TCZ-02

I S S

Ceiling, floor, pipe

M3.5-4.0 pan head,
wood, or tap screw

stainless steel
shot blasting
P.29

=N

BhRY . M35~40FE KoryvErxRy
M B RFTVUR
Tt EIF: YavhIIAKN

LM P29

Usage:
Appropriate screw:
Material:

Finish:

Installation:

TCZ-03

Ceiling, floor, hanging shelf

M3.5-4.0 pan head,
wood, or tap screw

stainless steel
shot blasting
P.29

® AT POULIRE
BHERY . M35~40FNE KorvywvErxRy
B AFTVUR-vU3Iv
ft £ 1F: Yav kIS

L &: P29
Usage:

Appropriate screw:

Material:
Finish:
Installation:

Glass or acrylic shelves

M3.5-4.0 pan head,
wood, or tap screw

stainless steel, silicone
shot blasting
P.29

.
=y

DA VEGEA]

Wire can pierce

¢ 4.2

%)

()«i»()

’_L‘

11
?30 o pmEED

0
@
«
™
Wire can pierce
11
LD~I:

?30 o pmEE

Wire can pierce

-vmu—-r‘_‘

TCZ-04

A & )JRLEbIEE

BIbRY 1 M3B5~4.0F N KorFwvEVRY

Mo B AFTVUR
ft £ YavhISXbH

T R: P29

Usage:
Appropriate screw:
Material:

Finish:

Installation:

TCZ-05

Panel hanger

M3.5-4.0 pan head,
wood, or tap screw

stainless steel
shot blasting
P.29

B & JRILmbIEE

BISRY D M35~4.0F~NE KorFwvEYRY

M B ATVUR
Tt EF: YavhISAN

e T B®: P30

Usage:
Appropriate screw:

Panel hanger

M3.5-4.0 pan head,
wood, or tap screw

Material: stainless steel

Finish: shot blasting

Installation: P.30
L

)
=<

é

20

28.5

O O |ese
O ‘ ed

60

DA VEEA

Wire can pierce

) . 1800

A P EEE

Wire can pierce

18



for Medium weight / F£H

TCB-04

A & XH-FREE
®inxY . W3/8

M B RFTVUR

Tt EIF: YavhkISAK
LT ®: P30

XTIy 3 VRN T, SATE (TCK) ZfATHEK
DTV a3V PI<EDERT,

Usage: Ceiling, Floor
Appropriate screw: W3/8
Material: stainless steel
Finish: shot blasting
Installation: P.30

- With tension adjuster. This specialized device
makes it simple to fine-tune the tension

TCZ-06

B & K REE

BHERY . M35~40FE KorvywErxRy
Mo B RFTVUR

ft £EF: vavhISAK

L ®: P30

¥*T VY3 UREENE. SATER (TCK) ZEAT &K
DTy avEIPI<EDERTD,

Usage: Ceiling, Floor

Appropriate screw: M3.5-4.0 pan head,
wood, or tap screw

Material: stainless steel
Finish: shot blasting
Installation: P.30

- With tension adjuster. This specialized device
makes it simple to fine-tune the tension

TCW-01

A & KEOIAb
Mo OB % ATVUR
ft £ BEMTER- Y3V ISR

Usage: Floor weight

Material: steel, stainless steel
Finish: baking finish, shot blasting
Weight: 2.3ke

- With tension adjuster.

65

40

15 15

40

.

o
W3/8
DA VEER]
Wire can pierce

e1o

%74 VEET

Wire can pierce

|
980 o rvEiE

Wire can pierce

20



for Heavy weight / &E8H

21

/
/

=

=~

—

S T

e e e e S e e T e e e e S o

for Heavy weight / £5H
100kg Type (9 3.0)

TDB-0O1

B & RHEE

BHRY . W3/8

M B ATVUR B #%®

ft £ YayvhISAM ZuTbXvF-AZI0O0XvF
e T . P28

Usage: Ceiling, Floor

Appropriate screw: W3/8

Material: stainless steel, brass, steel

Finish: shot blasting, nickel plate,
trivalent chromium plating

Installation: P.28

TDB-02

B & RHREE

BHRY . W3/8

o B RTVUR-#

£ EF: Yayv kISR 2Zo0XvF

LT K P28

XT Y3 VRN T, SATE (TCK) Z#ATdEK
DTy a3 VDN PT<IEDEFET,

Usage: Ceiling, Floor
Appropriate screw: W3/8
Material: stainless steel, steel
Finish: shot blasting,

trivalent chromium plating
Installation: P.28

- With tension adjuster. This specialized device
makes it simple to fine-tune the tension

TCK

B B SEfMDATIR

BEI/-Y 1 TCB-02, 03,04, 06 TDB-02
B ATFVURA

ft £E1F: Y3whISRH

Usage: Specialized tightening tool
Appropriate parts:  TCB-02, 03, 04, 06 TDB-02
Material: Stainless steel

Finish: shot blasting

36

18

78

120

18

30

100

DA VEEA]

214

P14

20

DU

Wire can pierce

W3/8

DA VEEA]

Wire can pierce

W3/8

22



23

Stainless steel wire / @570 1 V7

|
)

Stainless steel wire
/BEIA Y

®1.2

#IEEE . 20ke
BINER . RS BE8H
7 E. RFVUR (7X7)
ft B imBB\ SR
£ <& 1.0m~50m (05mEYF)
Recommended
maximum weight: 15kg
Appropriate fittings: Medium-light, Light weight
Material: Stainless steel(7X7)
finish: Soldered end
Length:

1.0m~5.0m (0.5m Unit)

®1.5

#EEfEE - 30kg

BIvEE . hE hRER

7 B RTVUR (7X7)
ft EF o s\ SR
E o~

[

1.0m~5.0m (0.6mEwvF)

] for Light weight

for Meduim-light weight

Recommended

maximum weight: 30kg

Appropriate fittings: Medium, medium-light weight

Material: Stainless steel(7X7)
finish: Soldered end
Length:

1.0m~5.0m (0.5m Unit)

2.0

HEEfEE ¢ 50ke

BLhER . HEH

# " ATFTVUR (TX7)
[ o = VAN 5
E @

& 1.0m~5.0m (0.BmEwvF)
Recommended
maximum weight:

50kg
Appropriate fittings: Medium weight
Material: Stainless steel(7X7)
finish: Soldered end
Length:

1.0m~5.0m (0.5m Unit)
2.5

SRS

70kg

BHEE: hEM

B ZRFVUR (7X7)
ft B BB\ TR

E T

& 1.0m~5.0m (0.BbmEwvF)
Recommended
maximum weight:

70kg

Appropriate fittings: Medium weight
Material: Stainless steel(7X7)
finish: Soldered end
Length:

1.0m~5.0m (0.5m Unit)

¢ 3.0

HEEEE © 100kg

BHEE . EEA

Mo B RFTVLR (7X7)
(e v A 1A 5152
k<

1.0m~5.0m (0.5m EwvF)
Recommended
maximum weight:

100kg
Appropriate fittings:

Heavy weight
Material: Stainless steel(7X7)
finish: Soldered end
Length:

1.0m~5.0m (0.5m Unit)

for Meduim weight

] for Heavy weight

24



Color wire / 1=>—20A4 1

\ 1.2

IVORY S S e
\ HEEFE: 20kg BLAGK
\ BNEE . RE - 88/
\ ¥ E: 2FUL2 GRAY
‘ ft E1F: FAOVEE CLEAR memmem==== —— e = :
£ <& 5m-10m-100m YELLOW
Recommended GREEN R S
maximum weight: 15kg BLUE e
Appropriate fittings: Medium-light, Light weight R ED
Material: Stainless steel BROWN
Finish: Nylon membrane
Length: 5m - 10m - 100m XEROBFERYDIcD. BYLEELIREDBENHDFET.
1.5
#EIBEE . 30ke voRY
ESEE . hE - hEEE N e T e e e e e
7 gq: RAFTVUR G R A Y e e i S Sl
tEF FAOVER CLEAR
£ & 5m-10m-100m YELLOW

H —— Recommended G N e e e e e s
COIOr ere / jj 7 Ij /r ‘\7 maximum weight: 30kg BLUE
Appropriate fittings: Medium-light, Light weight
e A e e e B 5 e e e A e S e e e i 0
e e e e A e e e e e e e S e S S e d

. . . R E D
with interior color Material: Stainless steel
L BROWN
DA VEBESEDA V7 UPDEEADYDTET. &DERBEMERIDHTE E'”'S“H l;ylon]rgemb:egwg
. . . XS =N I Fan o
PHRET, NS—04Tld. RREEDA V> PERAER IH LLERORHT eneth: M 1om e oo HEEQEEERIOID. FHCGEORESEAND0ES
Fo NS—KEZESZIX—PUBHINIICKD, BEDQTA VEEDORIMEREZERR
LEULT.
AVFUTHS—ICEDE 9 BO/\UT—Y 3 VDR SBRVVRIFET. ¢ 2 . O
Having a choice of colored wire lets you pick colors that compliment your design. You can - . IVORY = - =
create a more harmonious space, or contrast colors as you wish. We use a special #IEEE . 50ke
process 10 apply. a color membrane onto a stainless steel wire ESEE: hEM L e
Nine interior colors are standard. We can do custom colors for large orders. o B 2FVLUR GRAY
: ey
DA PREEZOFER. BACADELRNERRLET ftEw: FAOvER CLEAR — e
& . .
ERDDAT IV ) —(ERTE, BLTET 4 ATUA =7 4 F— NVERETT k& Sm:10m:100m VELLOW e
PO POREAYTUF NS SIS L TSR TITRVBN RN RS . Recommended S T ————————————————
T ADYERESSE R URRIITIEAD, BSOESIHPROME TR meximum welgnt: - 80ke T e
DEBNEB DT EHBDE Ao Appropriate fittings:  Medium weight
: ¥ = = ial: i S e e e e e e e e e e e e e
ROUBEDREEAENDTA S TF Y RBESTT, Material Stainless steel RED
BRI T EREORERED. RARCHENERTY. Finish: Nylon membrane B e S
T AS=DAPOIRHIE. AT VU 804 7X7 (T TY, Lensth: 5m - 10m - 100m HBROBIFERMORS., BYEGSIBEEHANBDET,
CFAOVERORD. By hLTHIA PIRERNIEDONICK K2 TVET,
All on its own, the wire conforms to its surroundings
- Using the same wire grippers, a whole new variety of displays are now possible. -
- Thanks to a special nylon laminate process, the color membrane won't separate even WI re Cap / Ij /r ‘\7:‘\: —\7 \\J 7 :
when you store it or take it out for use Y " f
- The nylon coating does not attract dust or airborne particles so maintenance is easy. U{V@lgﬁﬂ%%tb\ Wﬁ,\@:\:xj(j;&%9§3°
- Has the same tensile strength as our regular wire for the safe display of your valued M &: PVC
objects. HhIZ = RIAK L i i |
- Color wire is made from stainless steel 304 7X7.
- Thanks to the nylon membrane, cut wire end will not fray easily Prevents fraying of wire and damage to vicinity
Material: Polyvinyl chloride
gz . : J
v'a;c;\i’;mjiiz 012 ?15 #2.0 Color: White o e o o o
W
Diameter including covering ®1.35 ©1.65 ®2.15
HER 20kg 30ke 50ke

Maximum recommended load

RUEEEEE (S | ST PORBR. RAFEED 1/3 LNEHEFELRELTCBDERT,
HHEREFENICTTHEATEL,

SR BICRECORETY (ERRRICKD. RESLEEDZCENBDED). .
HOA PO, BEBOFON, FXREMONERL TV, ere Cutter / 'j’(ij v 9_

KNS —DA VOREEEES (O TT . BUOERICK D TFKBEIRDNDEN GO XTI,
DA 758D D F B ADHRDBIEONE T,

- The maximum recommended load is calculated by taking one-third of the breaking
load as determined by testing

- Please adhere to the load recommendations

- To insure safety, please check wires thoroughly for signs of damage due to
cutting, crushing, or folding before re-using

- The recommended load is safe under normal conditions. Load maximums may be
affected by shaking or vibration

- The color wire membrane is made of ultra-thin nylon. If subjected to extreme
friction, it may peel off. This will not affect the tensile strength of the wire but will
diminish its appearance

@30 XTOIA VM TEEXT

Can cut wire up to 3®mm




Installation / 8T X

27

Installation / fE T X

TBB-01

TAB-01

KENBDO AT DHE

For ceiling installation

KEANWD I DEE

For ceiling installation

Fv NP UhA—
Nut anchor

i . N
ET NoMA— K7V h—tr e
(] FHATE M4.0 board anchor
Ceiling
e I
anging bo ||
i L0
gys 0D ?
Reinforced
o T o
Ceiling T D% ¢13~15
.-i—. H3% - 2mm
[
TCB-O1 TCB-02 / TCB-03
KHANRD T 2155 K. REENRDMITDHEE

For ceiling installation

For installation in ceiling or floor

T KNP H— ‘ 3/87N—
Nut anchor _ KA E 3/8anchor
sofut || cetine |
J1\
Hanging bolt | | ‘ ">
. jasme}
Lissars 57
Reinforced
XEDAHFICIFBIFTEODEAIE
:ﬁ% (TCK) BEZEAL TR
A 1D BRAR—Y P22
KA E < > Specialized installation
A - tool sold tel
Ceiling DY 016~18 S e no2
H<%& : 9~11mm
XRAEUCHEATERYT
[ Can also be used in floor
TDB-O1 TDB-02
KHANRD 255 FFH. RIEENRD AT HIBE

For ceiling installation

For installation in ceiling or floor

Fv NP UhA—

Nut anchor

RO ML b

| —

Hanging bolt
l—?ﬁ?@ﬁ
Reinforced
—
I
L]
1D
T+
Ceiling D% ¢ 16~18
H<% - 21~23mm
S

3/87 > H—
3/8anchor

T
|
IO FIFICIFRIFTEODERTLE
(TCK) rEZERLTLIEEL
BENR—Y P22

Specialized installation
tool sold separately
See p.22

KA E

Ceiling

< >

KERAEUCHERTERY

Can also be used in floor

28



Installation / 8T X

29

TBZ-01 / TCZ-01

R BREARDAITIDEE

For ceiling or wall installation

R—REEZERDBE

For hanging board

K A TBEZEZITDHE

For holding wooden shelf or pipe

IJ TBZ-01: ¢8.2~9mm
TCZOl: ¢ 11.6~12mm
< >
TBZ-01:
/MS.O FNE Ror SuETIEY
M3.0 pan head, wood, or tap screw
TCZ-01:
M3.56~4.0 7NgE Kor ¥yvEVIRY
M3.5-4.0 pan head. wood. or tap screw TBZ-01: ¢ 19mmT
TCZ-01: p27.2mmTF
TBZ-01:
M3.0 7B AKor FvEVIRY
M3.0 pan head. wood. or tap screw
TCZ-01:
M35~40 78 Kor FwvEvIRY
M3.5-4.0 pan head. wood. or tap screw
(S
T BIEEANRD I DEE WL EZmdisa WEEZZ T 255

For ceiling or wall installation For hanging shelf For holding hanging shelf

TBZ-02: »8.2~9mm
TCZ-02: ¢ 11.5~12mm

TBZ-01: 20mmiT
TCZ-01: 30mmiL+

TBZ-02:

M3.0 F\BE Kor ¥vEVIRY
M3.0 pan head. wood, or tap screw
TCZ-02:

M3.5~4.0 7N Kor FvErIxy

M3.5-4.0 pan head, wood, or tap screw

TBZ-02:

M3.0 FRgE Kor ¥vEVIRY

M3.0 pan head. wood, or tap screw

TCZ-02:

M35~40 78 Kor FwvEvIxy

M3.5-4.0 pan head. wood. or tap screw

%‘

FA

JRRNRNNIED =g

7'?44

TBZ-03 / TCZ-03 TCZ-04

HASZMW. POV EZRITDI5E

For holding glass or acrylic shelf

I\ RIVEEZERDHE

For hanging panel

M3.5~4.0 FNE AKor FvEVIRY
M3.0 pan head, wood, or tap screw

ITBZ-03: ¢ 8.2~9mm
ITCZ-03: ¢ 11.5~12mm

TBZ-04 / TCZ-05

K. BREAROMIDHE

For ceiling or wall installation

TBZ-04 :

- M3.0 FR\B Kor ¥wvErIxy
M3.0 pan head. wood. or tap screw
TCZ-05:
M3.5~4.0 7N AKor FwEr IRy
M3.5-4.0 pan head, wood, or tap screw
[l

TBZ-04: 10mmilt
TCZ-05: 14mmbl t

JRIIEEZRDICRDIEE

When hanging panel with bracket in diagonal position

NRIVEEZRAE CRH5BE

When attaching bracket to side of panel

—

\

A\

o
TBZ-04 : g

| M3.0 7B Kor ¥vErIxy
M3.0 pan head. wood, or tap screw
TCZ-05:

M3.5~4.0 FNE AKor FvEVIRY
M3.5-4.0 pan head, wood, or tap screw

TBZ-04 :E 180° @ﬁiK

M3.0 7B Kor ¥ywvErIixy —
M3.0 pan head, wood, or tap screw

TCZ-05:
M35~40 "8 Kor ¥vEvIRY @W _
M3.5-4.0 pan head, wood, or tap screw

TAZ-O1

TAP-O1

I\ RIVIEEZRETCRDBE

Attaching component to side of panel

10mmBlE

—

I\RIVIEEZTVZRITCRDIBE

Attaching component via pre-drilled hole

¢i¢¢ o
- smmuEM
W/ =
\ 8mm [//O]d:aEmmL:lt
M3.0~35 I X Kor ¥vEVT R
M3.0-3.5 pan head, wood, or tap screw
TCB-04 TCZ-06
RIEENRD AT HIBE RIEENRD T HIBE
Installing in floor Installing in floor
[ — —

KEUDMIFICFRIFTEDDERTER
(TCK) 75 &%= BAL T EEL)
BEN—Y 1 P22

Specialized installation
tool sold separately

M3.56~4.0 FNKor FvEVT R (- =

M3.5-4.0 pan head, wood, or tap screw T%a;jglgg%% B%?EE%
cC

BHEN—Y . P22

Specialized installation

tool sold separately

)
?

Can also be used in ceilings

i See p.22 See p.22
| =
MARAAEULCHFERATERT MRHAEUCHFERATERT

Can also be used in ceilings

30



Memo / XE

31

32



How to order / &EX A%

33

Inquiry / BEILGHTE
ANYOTICEHINTVDRRBICDOVTIF. BEFEFIF.
HR—LR=I KDBHVEDE LIV, TEXDEIF. Bl
MEROANBZHETCTHEREVCEWED AT, BA. & U
A X, BEEEZ TIELEE L,

If you have any questions about the products in this
catalogue, please contact us by telephone or our home
page. Please place an order after checking the price list
attached. Please specify the item, item number, size, and
guantity. You can also place an order through our
website.

Meeting / B 560 E
ENRCHTRHAETHEY, CHESOEY. H2LEE
EEY(CCRAERDRI T ARRICOTE LTI, BREETHS
HDORZ v IRBAVWVELET, ARG URRBZE CIREET
ETDRD. BEBFREMBELBIEEDOBEERLENS TV EFE>
TWEFT,.

Our experienced staff will visit you whenever you need
more specific details on our products, some
modifications, or need to ask for a customized product.
We create a plan by taking with you in-depth in order to
provide a product that responds to your needs.

Design / %5

KBTSV ZHEIC. BPIDEMENERNIEREZVCLET.
CNFTOMREERBENR—RIC, BEHRDCELICBMATE
LD, RETHREENISRRZ CIREVCLETD,

According to the product plan, our specialists will make a
specific design. On the basis of our study and past
results, we suggest safe and functional products to
meet your needs.

Manufacturing - Inspection / 24 - 1&&
BREF TS VLS T BESMIEMICKDHRZEEEVCLE
J. Ffe. RDULTHBHEWVIEL feo(T, MEFEPEERREEZ
FhE UeRBIREZRE U BIHVET,

According to this plan, we manufacture products that
were designed with your needs in mind. We stringently
inspect our products with a focus on load bearing
capacity and that it operates properly.

Delivery - Set-up / % - J1T
MBOBIFHBOEDIFVWVEEICDWVWTTHRAL, MRBDHEE
DT ITEI—=A T FVAZDDIFTTVNET,

When we deliver products, we explain to you how to
handle them. We will continue to give good service after
delivery.

[SA42T70vT] BEFPHRASHDAUIFTILISY RERTY .
RS FOMEEICOVTIE. ARDICDFEELEET DHBENHDFT.

- BEER 2 frEiRE .

CAAZOTICBEHEINTVDA SR MBIUEEREZHEITCER - GHITHEZEUFT,

- [Line-prop] is an original product of TAKIYA Co., Ltd.

- Specifications and price list are subject to change without notice due to continual improvement.

- 2 patented designs.
- TAKIYA Co., Ltd all rights reserved.

- The pictures and illustrations shown in this catalogue have been separately copyrighted.
- Reproduction of such pictures or illstrations in this catalogue, in whole or in part, without permission, is prohibited.

Company Information / £=xERN

YEPHRARH

ABRAA  ABRMHPRXSZA 1-10-12 T542-0082
TEL: 06-6253-0331 FAX: 06-6253-0339
E-mail: info@takiya.com

RREEM HRILEXMSIL 1-4-2)\H )L 2F T107-0062
TEL: 03-5410-0992 FAX: 03-5410-0998
E-mail: info@takiya.com

TAKIYA CO., LTD.
OSAKA 1-10-12, Shimanouchi, Chuo-ku,
Osaka 542-0082 JAPAN
TEL: (+81)6-6253-0331 FAX: (+81)6-6253-0339

TOKYO Yatsunami-Bldg. 2F, 1-4-2, Minami-Aoyama,
Minatoku, Tokyo 107-0062 JAPAN
TEL: (+81)3-5410-0992 FAX: (+81)3-5410-0998

http://www.takiya.com

OSAKA
Fiik
RS
& &
RIEBR
F—om7l SEEEEE
LIEE el
W7 EHO
1
7 - 5
B = &
A B B OB
FRAM
FAFE
TOKYO
o ERR
) (e
B
®
TRREVER
B 4&EHO
YA Ve
¥ 3&HO
z KRR ”
2
95 EH0 3
=TI ®
BU—TE5I— @
TAKIYA -
-
ERLE
EAR
US.A. U.S.Representative

Jeffrey Isaacs

14507 Drexmore Rd. Shaker Heights, Ohio 44120
TEL: +1-216-403-9162

E-mail: takiya.us@takiya.com

Europe Europe Reprensentative
Koji Miura
P.0.Box 2044 1180 EA Amstelveen The Netherlands
TEL: +31-20-6477622
E-mail: koji.eu@takiya.com



TAKIYA Line-propi

Price list / {fif&%&

BAfif : A Currency: Japanese Yen (JPY)

for Light weight / 2= H

for Medium weight / F=H

Trade code / @& Price / {fit& Page /B Trade code / @& Price / {fif& Page /B
| |
TAB-01 950 10 TCzZ-01 1,250 17
N (52.997) #571.312)
. i |
| |
I TAZ-01 800 10 .
(o] (152 840) I TCz-02 1,700 17
(852 1.785)
TAP-01 400 10 B
(#52 420) TCZ-03 1,900 17
- (%2 1.995)
alj=} —_
- - - =
for Medium-light weight / &£ MH .
Trade code / #& Price / iit& Page / B I TCZz-04 1,900 18
(852 1,995)
-
[ ] | |
- (@]
TCZ-05 1,650 18
(BHA1,732)
TBB-01 2,800 12
(B2 2,940) _ A
i | .
[ ]
TCB-04 2,850 19
|| (#22.992)
z [ |
I TBZ-01 1,100 13
- (B2 1.155)
| |
TBZ-02 1,500 13 TCz-06 2,800 19
—_ (#521575) (#22,940)
| |
| TBZ-03 1,600 14
—_— (B2 1,680)
i o]
o TBZ-04 1,450 14
_AR_ (52 1522)
- - = TCW-01 13,400 19
for Medium weight / £ (214070
Trade code / R& Price / {fit& Page / B
| |
[ ] H =
- for Heavy weight / £
Trade code / & Price / {fi#& Page / B
TCB-01 2,700 16
(#6524 2.835)
[ |
[ ]
[ S
I TDB-O1 3,800 22
. H— (B2 3.990)
I TCB-02 1,800 16 I
(852 1,890) E—
5 ||
TCB-03 2,100 16 TDB-02 3,000 22

(B2 2,205)

(B2 3.150)

2012. 06 No. 002




Stainless steel wire / @501 7

Wire diam. / DA Y7 K& 1.0m 1.5m 2.0m 2.5m 3.0m 3.5m 4.0m 4.5m 50m Page/H
s ¢1.2mm 300 400 500 600 700 800 900 1,000 1,100 24
(BHA 315) (Biia 420) (BHA 525) (B4 630) (Bia 735) (B4 840) (BtiA 945) (BH5A 1,050)  (BEA 1,155)
=== @ 1.5mm 300 400 500 600 700 800 900 1,000 1,100 24
B$2315)  (WA420) (WAG25)  (RAG30) (BA735)  (BGAB40)  (BSA945) (BHA1050) (BA1.155)
= @»2.0mm 350 500 650 800 950 1,100 1,250 1,400 1,550 24
(BHA 367) (B5HA 525) (Bia 682) (A 840) (#BHA997)  (®#A1.155) (#HA1.312) (BHA1.470) (BhA 1.627)
—_ 2.5mm 450 600 750 900 1,050 1,200 1,350 1,500 1,650 24
(BA 472) (B52 630) #52787) (BHA945)  (BHA1.102) (A 1.260) HGA1.417) (BHA15675) (BHA 1.732)
= #3.0mm 900 1,700 1,300 1,500 1,700 1,900 2,100 2300 2500 24
(A 945)  (BH5A1,165) (BHA1.365) (BHA1.675) (BhA 1.785) (#A 1.995) (#HA2.205) (HHA2415) (BHA 2.625)
Color wire / A5—2AV
Wire diam. / D1 VK& 5m 10m 100m Page /&2
| ¢ 1.2mm 1,300 2,300 21,500 26
(BA 1.365) (857 2.415) (B4 22575)
_——————— @ 1.5mm 1,450 2,600 24,500 26
(B2 1,522) #522,730) (52 25,725)
=———— ¢2.0mm 1,800 3,300 31,500 26
(B2 1,890) (BHA 3,465) (BtA 33,075)
Wire options / DA VA 7> 3>
Trade name / &% Price / fiit& Page /B Trade name / &% Price / ffit& Page / B
TAYvFvvT TA4vFvvT
Cosss=== 650 (100 @A) 26 C = 700 (100 @A) 26
@1.2mm A (852682) ¢2.5mm A (852 735)
TA1v+rvT TAvFvrv T
C O Es=== 650 (100 fEA) 26 ng 700 (100 fBA) 26
@ 1.5mm A (852 682) ¢3.0mm A (52 735)
TAEryT
C == 700 (100 fA) 26
$2.0mm A (52 735)
optional tool / 773 >TEB
Trade name / &% Price / ffit& Page / B Trade name / @& Price / fiit& Page / &
Y'Y TCK 400 22 q DAV HY5— 8,000 26
(#A 8.400)

(B2 420)




	i_hyou1-4_0628
	i_01-02_0628
	i_03-04_0629_out
	i_05-06_0625
	i_07-08_6025
	i_09-10_0625
	i_11-12_0625
	i_13-14_0625
	i_15-16_0625
	i_17-18_0625
	i_19-20_0625
	i_21-22_0625
	i_23-24_0625
	i_25-26_0625
	i_27-28_0625
	i_29-30_0625
	i_31-32_out_0629
	i_33-34_0629
	i_pricelist(o)_0625
	i_pricelist(u)_0625

